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(cm)
(€.L-m (G.L-m)
No.1 10 10 4
No.2,3
No.2 80 30 | 20 | 68.00 72.00 |No.1,2,3.4 H20.3.19
$48.5 H5.3.17
No.3 103 30 | 20 | 88.00 93.00 | H6.3.21
No.4 200 30 | 20
S45_4 No.1 6 10 4 No.1,2,3 No.2,3
H20.9 No.2 35 30 | 20 | 24.00 29.52 | H7-3.13 H5.3.17
No.3 60 30 | 20 | 43.090 48.64
No.1 6 10 4 No.2,3
H20.11 No.2 35 30 | 20 | 24.00 29.52 Nzéé’if o.11. |M20-11-7
No.3 60 30 20 | 43.09  48.64 T
No.1 7 10 3.225  7.230
No.2 24 10 5
H10.4 No.2,3,4 No.1,3,4
No.3 47 30 | 20 | 34.00 37.21
No.4 90 30 | 20 | 68.60 79.72
No.1 8 10 4
546.4 No.2 52 30 |20 No.1,2,3 S;g 17 s
: - H6.3.21 -2
No.3 80 30 | 20 | 60.30 70.30
No.1 13 10 4
No.2 73 30 | 20 |52.35 61.40 [N0-1,2,3,4 No.2,3 H20.3.24
S$51.5 H7.3.15 H7.3.11 -2
3003 3 No.3 125 30 | 20 | 81.40 109.14
No.4 210 30 | 20
No.1 8 10 4
No.2 43 30 20 No.4.5
No.1,2,3,4,5 | -7 H20.8.28
$45.6 No.3 55 30 | 20 6.3 91 H5.3.17
No.4 140 30 | 20 |104.90 116.60
No.5 200 30 | 20 |156.72 167.84
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